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	I caught a train (                ) for Manchester.

	Good teamwork is (                ) for the success of our project.

	Linda is (                ) in Spanish.

	The deal is still under (                ).

	An accident (                ) this morning.

	Manufacturing employs a quarter of the local (                ).

	He has a (                ) job in a government office.

	The university provides financial (                ) for students.

	I have several questions (                ) the new procedures.

	He (                ) that he has experience in sales. 

	The theater was named in (                ) of the famous actor.

	We can (                ) a lot from these figures.

	Our store has a large (                ) of bicycles.

	Traffic congestion is a (                ) problem in this area.

	The government took urgent (                ) to tackle the problem.

	He's making steady (                ).

	Mary did a (                ) job organizing the event.

	There's no simple (                ) to the problem.

	(                ), Mr. Baker is not available at the moment.

	The company will (                ) its fiftieth anniversary next month.


